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(512 + 32) x (720 + 48) = ? - 51

1.290
2.291
3.292
4.294
5.NOT




125% ot 320 + ?% of 125 = 4400

1.7276
2.6484
3.1860
4.3200
5.NOT




24, 11, 9, 14, 48, ?

1.368
2.350
3.90
4.68
5.NOT




67, 2, 84.5, 97, 112, 129.5, 149.5

1.70
2.75
3.73.5
4.74
5.NOT




7, 16, 36, 78, 144, 222, ?

1.272
2.312
3.322
4.324
5.NOT




4, 12, 26, 52, 102, ?

1.182
2.140
3.200
4.132
5.NOT



51, 81, 61, 91, 71, ?

1.91
2.81
3.101
4.111
5.NOT




The total number of bags (paper
+ fabric) in three different shops
i.,e. A, B and C is 2160 and the
total number of bags in A is 25%
more than that of B and the ratio
of the number of paper and fabric
bags of Ais 4 : 5 respectively. The
number of paper bags of B is 30
ess than the number of fabric
0ags B and the total number of
nags of Cis 25% less than that of
B. The ratio of the number of
paper and fabric bags of Cis 3 : 2
respectively.
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The total number of bags
(paper + fabric) in three
different shops i.e. A, Band Cis
2160 and the total number of
bags in A is 25% more than that
of B and the ratio of the
number of paper and fabric
bags of A is 4 : 5 respectively.
The number of paper bags of B
is 30 less than the number of
fabric bags B and the total
number of bags of Cis 25% less
than that of B. The ratio of the
number of paper and fabric
bags of Cis 3 : 2 respectively.




Out of the total number of bags in A, 75% and 50% of the paper and fabric bags are sold. P\
Then find the ratio of the number of paper and fabric bags in A are unsold?

A T I HY HA GEITH H, 75% AR 50% FHRTH AR HUS oh o7 9 AT 8| AT A F R AR
SHUS oh ST ST HEAT T IFTTUTA 1A hIToTa AT TerT foreh §2

Total Paper Fabric
1.2:5
900 400 500 2 5:9
720 345 375 3.3:4
4.8:5
540 324 216 5.NOT




If the total number of bags in D is two-third of the total number of bags in A and the
number of paper bags in D is 60 more than the number of fabric bags in D, then find the

number of fabric bags in D?

FfE D T A Y HeT AEAT A § I T THed HEAT T J1-TAETE € R D H U ST 6T H&IT D
3 HUR % AT T TTAT A 60 TRAE T, AT D T HUL % 7T Y HTAT 7T B

Total Paper Fabric
JA 900 400 10]0) 2 270
B 720 345 375 3.230
4.250
C 540 324 216 5.NOT




Find the sum of the average number of paper and fabric bags in A and the average

number of paper and fabric bags in B?

A U ShTT 1T hUS oh ST hi ITHEA AEAT 3T B H Sh1TST 3T ShUS oh ST <hl ATHT HEAT T

I AT hIRTA?
Total Paper Fabric
A 900 400 500
B 720 345 375
C 540 324 216

1.800
2.810
3.795
4.785
5.NOT



If the average number of paper, fabric and plastic bags in B is equal to the number of paper
bags in A, then the number of plastic bags in B is what percentage more/less than the number of
fabric bags in A?

IfE B H TS, UL 3R TATiReeR hi ATTat hY 3irad §&ar A § Uu¥ ST ! G867 & S{IeR 8, a1 B
T terTieeeh st AfeTat oY TEaT A H U ohY Aferat ohy wear & fera ufavra stferem/awm 22

Total Paper Fabric
oY 1.8%
A 900 400 500 o
2.10%
B 720 345 375 3.4%
4.6%
C 540 324 216 5 NOT




The number of paper bags in A and C together is how much more/less than the number
of fabric bags in A?

A 3R C H Teh TTY UUT T <h! GE&AT, A § HUS & ST ohl @1 9 fora-t arferen/em 22

Total Paper Fabric
1.200 less
900 400 500 2.150 more
720 345 375 3. 199 less
4.224 more
540 324 216 5.NOT




In a stream, the ratio of the speed of the boat in still water and the speed of the stream is
7 : 5. The ratio of the speed of another boat in still water to the speed of the stream is 4 :
3. What is the ratio of the speed of the second boat to that of the first boat in still water?

Teh AT H, TR et & a1 <Y 7rfer 3717 &Ry <l 1T R 319Ut 7: 5 21 ReR et #§ Ueh 37 1 <hy 7ifer TR
STRT Y TR BT AT 4: 3 31 R arft # gadt 7mar oy i ofie vt e ot v whT arguT e €2

1.21: 20
2.20: 21
3.19:11
4.6:11
5.NOT



Three mixtures of water and milk A, B and C are mixed in the ratio of 2 : 3 : 1. The
concentration of milk in three mixtures A, B and C is 60%, 70% and 80% respectively. The

quantity of water in the resultant mixture is 19 litres. Find the approximate percentage of
milk in the resultant mixture?

Tt TR Y A, B 3R C 3 = fhrsrort st 2: 3: 13 st7ara § fhrerrern simar 31 = frsroni A, B iR c dgar s
T[TEAT SHHI: 60%, 70% 3T §0% 21 TioTTT frgror  urit Y 7 19#\21%|uﬁurrq°rﬁramfra%raﬂ

STTATIAT TT9Ta AT hifeTar?

1.60%
2.61%
3.65%
4.70%
5.68%




A box contains 5 red, 4 white and 3 blue balls. Three balls are drawn at random. Find out
the number of ways of selecting the balls of different colours?

TS ST § 5 AT, 4 A 3R 3 Fiefht 7§, i 72 argfeos w9 o ©ist s § o ant
Y FSH Y A o AhT sht Tt T R

1.24
2.32
3.60
4.30
5.NOT



In a bank PO examination, 70% of candidates passed in prelims, and 65% of candidates
passed in mains. If 62% of candidates passed in both these levels, then what percent of

candidates failed in both the exam levels?

ek dYaTT TeaT ®, 70% ITHIEaR Sifered § 30T 5T, 3R 65% ITHIGaR H&a udterT # 3t Ul afe
T AT & H 62% mﬂaﬁﬁw,ﬁaﬁﬁmmﬁﬁﬁmﬁuﬁvmmmmﬁﬁw?

1.63%
2.27%
3.42%
4.58%
5.45%



20 men can complete a piece of work in 10 days. 3 days after they started working, S more
men join them and after 3 more days 8 men left. How many more days will they now take
to complete the remaining task?

20 U Tk ST T 10 TS H O X Tehel & I ITE &L o 3 37 18, 5 XI5 Ik A1l e
2 T ¥ 31T 3 3R T 3 a1E 8 Uow Tror AT Bl 99 T o O e W ST 3 G FeRe TR e

1.3
2.4
3.5
4.6
5.NOT



R invested Rs. 12000 in two different schemes. First at 10% per annum, rest at 20% per
annum and thus in 4 years the total interest from both the amounts collected was Rs.
6720. What was the amount lent out @ 20% per annum?

R 7 & STETT-STENT AT W 12000 & 9T fohd| Tget Iia-r U 10% T a9, S8 UX 20% Jid I9 AR
%Wmﬁfrmsﬁﬂéaﬁﬁv&lﬁﬁ?@rww 6720 T ITH FATI 20% ufer o <t &¢ & STHT Y T
= ot

.Rs. 4600
.Rs. 4400
.Rs. 4800
.Rs. 5000
5.NOT

> W N B



10 years ago, Age of S's grandfather is S times the S's age and after 5 years from now, age
of S's Grandfather will be 3 times the age of S. Find the ratio and S and her grandfather's

age before S years ?

10 I UESA, S o FTET T AT S hY 71T Y 5 AT § 31 o7 & 5 T9 1S, S & FTaT Y 1T S
<R 31T <Y 3 AT B szﬁﬁ'&aﬁ'{s 3T 3Tk ITET h 37T 5 T A UTel 87

1.1:3
2.2:5
3.1:4
4.3:5
5.1:5



A coolie standing on a railway platform observes that a 360m long train going in one
direction takes 4 seconds to pass him. Find the time taken by train to cross the platform

which is 2.25 km long?

‘{ﬁ%tﬁtﬁﬁﬂ@:ﬁ@ﬂﬁﬁé@ﬂ%ﬁﬁ@aﬁvﬂﬁm@ 360 HieT et 27 30 IR A T 4
Yo et B 2.25 FRT i oI &1 U S 1 3 X ST FoTaT T TR [T R

1.29 sec
2.35 sec
3.30 sec
4.20 sec
5.40 sec



Area of rectangle is 96 square meter more than the area of triangle. Length of rectangle is
18 m. Height of triangle is 20 m. Base of triangle is equal to breadth of rectangle. Find the

perimeter of rectangle?

T T AT T oh AT A 96 T HieT Afereh 3| A hi wialrg 18 Hiex 71 Frosr oy 3= 20 Hiex

1 TSI ST TR AT SRl TATSTE o TER §1 ST T UIHT T hITeTa?

1.60
2.72
3.54
4.64
5.48



Find the difference between the total number of students studying in Morning shift and in

Evening shift?

g hl UTeiT SR ITH 6T UTeAt 7 Tg- arer feremierat &ht @et |t o o1 &7 il 71

AR

1.20
2.42
3.53
4.11
5.NOT



Find the average number of students studying in all courses ?

aHY UTGTSHAT H UG el BTAT hi STTHA GEAT JTA hlTA?

1.333
2.210
3.199
4.205
5.200




In Afternoon shift, ratio of the number of male students to female students is 103 ¢ 78,

respectively. If the number of female students of age below 21 years is 25% of the number
of female students in the afternoon shift, then find the number of female students of age

21 years or above in the Afternoon shift?

IIIE hT UTeT |, U6 DTAT shl HEAT TR AT STAT hl HEAT o1 ST SHAST: 103 : 78 71 Tfg
21 I A HT m%mﬁﬁm@mﬁw@ﬁmﬁﬁmw 25% %, 2TET T

UTell | 21 9 AT 3EY SAfirek STy S BT HY T 71 Hik

Afternoon

1.123
2.111
3.102
4.117
5.132



Find the ratio of the number of students in all the shifts of MBA course to the total
number of students in all the shifts of LLB and B.Tech course together?

MBA UTIsRH hl Tt UTierat H STAT hi HEAT 3R TATAE! 3R B.Tech UTSTHHA ht @t
qTRET § BTAT hl et AEAT T SATUTT AT hlTSTa?

1.13: 12
2.7:6

3.13:11

o
%

. 4.14: 11
I 5.NOT
o




Find the percentage of students studying in the B.Com with respect to the number of
students studying in the B.Sc ?

B.Sc H U AT BT hi HEAT o Tl H B.Com H UG STeT BTAT T U9 AT ShiToTd?

N 1.80%
2.75%

m

e 4.88.88%
1.8 | A 5.NOT
01




